Programowanie liniowe
Zadania testowe

1. 1 + x2 + r3 — max, przy warunkach

T+ Ty — 2w3 > 0,
Ty — T+ 2w3 < 1,
$1+5l’2+$3:1,

x1,x9, 3 = 0.
Odpowiedz: 1, [1,0,0].
2. r1 + x9 — x3 + 14 — max, przy warunkach

r1+ 29 + 23 + 24 < 10,
I1—$2+2$3:3,
T3 — Iy 2 9,

T1,T2,T3, Ty Z 0.
Odpowiedz: zadanie sprzeczne.
3. 1 + x9 + x3 — max, przy warunkach

Ty + 2o+ x3 <8,
I1—$2—ZE3:5
x1+a:2—:v324,

x1, X2, 23 2 0.
Odpowiedz: 8, [1—23, %, 0] lub [1—23,07 %]
4. x; + 29 + 23 + x4 — max, przy warunkach

Ty + T2+ a3+ 14 2> 1,
ZEl—f-Ig:l,
x3 — x4 <1,

T1,X2,T3, Ty Z 0.

Odpowiedz: funkcja nieograniczona.



5. x1 + T9 + x3 — max, przy warunkach

Ty + 22+ 23 <1,
$1+21’2+31’3 22,
2£C1+l'222,

Ty, x9, w3 > 0.

Odpowiedz: zadanie sprzeczne.
6. z1 + x9 + xr3 — max, przy warunkach

T1+ 2o+ 23 > 8,
Ty +1xo — w3 =4,
Ty —1xp — w3 < 2,
1,29, x3 > 0.

Odpowiedz: funkcja nieograniczona.
7. x1+ 229 + 3x3 + 44 — max, przy warunkach

T+ xo + w3+ 14 < 10,
T1 — To + 313 =1,
T3 — 1y 2 2,

1, T2, 23,24 > 0.

: s, 4 4 03 3
OdeWledZ. 235, [0,657257 5]

8. 71 + x5 + x3 — max, przy warunkach
r1 4+ 229 + 33 < 1,
41’1 + 51’2 + 6?[33 S 2,
—3I1+2$2—l’3:0,
23}’1 — Q.TQ + x5 = 0,
T1,X2,T3,T4 Z 0

Odpowiedz: &, [0, &, ).

9. x1 + 2y + 3 — max, przy warunkach
2£L'1 — 41‘2 + 5$3 = 0,
—3131—|—.Z‘2—5l’3 :O,
X1, T2, T3 2 O

Odpowiedz: 0, [0,0,0].



